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# 2.1: CH, OB G LD SSEHE T

Bt A b E./R k (500 K)

[cm® mol™ s [K]  [cm®*mol™ts™]
(1) Cl+ CH;— HCI + CHj 7.83 x 10* 2.69 500 5.26 x 10*
(2) CH;+ Cl, » CHyCl + Cl 3.02x10% 0 270 1.77 x 10"
(3) Cl + CHsCl — HCI + CH,CI 2.41x10° 092 800 1.49 x 10*
(4) CH.CI + Cl, — CH,Cl, + CI 9.11x10" 0 490 3.40 x 10*
(5) Cl+ CH,Cl, - HCI+CHCIl,  8.91x 10’ 1.58 360 7.93 x 10"
(6) CHCI, + Cl, — CHClI; + CI 513x 10" 0 1240 4.31 x 10%°

[CH4):[CL,]:[Ar]:[Cl]o = 0.01:0.04:0.95:4x10%, p = 1 atm, T = 500 K T

[CH.] = 2.44 x 107 mol cm™®

[Cl,] = 9.75x10™" mol cm™®

[Cl]o = 9.75x107" mol cm™

ry = ky[CH,] = 1.28 x 10°s*

r, = ko[Cl}] =1.73 x 10°s™

ry = kyCl,] =3.31 x 10°s™*

Ie = ke[CIz] =421 x 104 S_l

T /I 8 S S S J|| FETT Tevr v = T T T | 'I
7 ﬁ /11, | ﬁ /] ~ /
g : H S 5 E ] /-
g : : g g : / :
= : 3 I T IO 0 O O 74 U0 T B N 1) O N 0 SO 20 W3
‘o [0 EEUR S WS Y / JRUS SO S Io / Io /
= e 1= s S
g /// : ' g 2 USRS DU AV SO U8 SUUOE SN AU - 8
8 / : : 8 : : 8 :
0 i i o= | i 0 of i
0 5 10 0 5 10 0 5 10
t/ms t/ms t/ ms

2.3: CH, 8 FEALSUS ([CHAL:[ClL):[AM:[Cl]o = 0.01:0.04:0.95:4x10°, p = 1 atm, T = 500 K).
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